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Question 1

Question Type: MultipleChoice

A case has started a process. When the case content objects are updated in the case, which statement is true?

Available Choices (select all choices that are correct)

Options:

A- For cases that parent a process, content objects shared are locked to prevent lack of synchronization issues.
B- The child process gets delayed updates of the changes that can be configured in the admin console.
C- The child process is not aware of the changes, it should be updated independently.

D- The child process is synchronously updated with the changes.

Answer:

D

Question 2

Question Type: MultipleChoice




A developer has worked with end-users in a requirements session to establish what can be selected on the Single Select control in
CoachViewl seen below. To ensure that the selections are easily maintainable, the developer wants to dynamically lookup the
selections at runtime. What two options does the developer have available to achieve this requirement? (Choose two.)
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Options:

A- Pass a business object via the CoachViewl Configuration Options, update the Item lookup mode to Items From Config Options and
select the business object as the Binding of the Single Select view in the General tab.

B- Keep the selections in the Static list, pass a business object via the CoachViewl Configuration Options and select the business
object as Output business data so that the geclcemText n method on the Single Select view returns the selection items via the business
object.

C- Pass a business object via the CoachViewl Configuration Options, update the Item lookup mode to Items From Service and select
the business object as Service input data for the Default List Items Service.

D- Pass a business object via the CoachView1 Configuration Options, update the Item lookup mode to Items From Config Options and
select the business object as Item selection data.

E- Update the Item lookup mode to Items From Service and select a service flow that follows the Ajax service specification as the List
items service.

Answer:

A C

Question 3

Question Type: MultipleChoice




Refer to exihibit

What gateway is shown in the image below?

Options:

A- Message Gateway
B- Inclusive Gateway
C- Event Gateway

D- Delay Gateway

Answer:

B



Question 4

Question Type: MultipleChoice

How can the input value of a service flow be configured using the Sen/ice Call coach view?

Available Choices (select all choices that are correct)

Options:

A- The Input value configuration option must be bound to a variable of the same type.
B- The 'Map input data automatically' configuration option must be selected.
C- The Input value formula option must be populated with an appropriate variable map.

D- The coach view must be bound to a variable of the same type.

Answer:

A

Question 5

Question Type: MultipleChoice




Refer to exihibit.

Which statement about the process diagram below is true?
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Options:

A- Task 2 2 will only be active when Task 2 1 is not active and Task 2 1 will only be active when Task 2 2 is not active
B- Task 2.1 will always be active and Task 2.2 will be active when the condition tw.local.needTask22 == "Yes' for 'Need Task 2.2' is met.
C- Both Task 2.1 and Task 2.2 will never be active in parallel at the same time.

D- Task 2.1 will be active when the condition tw.local.needTask21 == 'Yes' for '‘Need Task 2.1' is met.

Answer:

Question 6

Question Type: MultipleChoice

Why should a security proxy hierarchy be created in Case Builder?

Available Choices (select all choices that are correct)



Options:

A- To reuse case types between business units without sharing case data.
B- To dynamically change security on cases as the cases change stale
C- To ensure that users can dynamically access documents filed in case folders.

D- To avoid having to rely on the Security Configuration to handle case security.

Answer:

B

Question 7

Question Type: MultipleChoice

Which section of the Service Call coach view Events tab should be used when seeking to augment data being returned from it?

Available Choices (select all choices that are correct)

Options:




A- On Result

B- On Invoked

C- On Before Result
D- On Load

Answer:

B

Question 8

Question Type: MultipleChoice

When using Case Client, which action can a user take to perform a reassignment, provided the user has correct role permissions?

Available Choices (select all choices that are correct)

Options:

A- Search for a user.



B- Search for a user across roles from the Roles section.

C- Search for a group.

D- Reassign to a group from the Roles section.

Answer:

B
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